SRR EIRICETRE (AR
FORPETY
e A0 G IPTEINRYY

: a—§:\/§+\/§—\/€ Gz (2hd g0 (sdad> >ic a

._sxgulocu.z.o Sac a2+a—12+6\/§+4\/§—2\/€ Ulu-*-‘

ST

. X+y+Z=1Q+xgél+>_'_9.oél+6+§_>>|.LCi Mg zg Y9 X

. 2xA L2y 14224154 o guiwl (2. Ym< HE

bl gygpell

sl Jsoadl bl

AB =8cm a,kns 8,505 (C) : ol lalde
BM =4cm o lpao M ahsidl g
ABEF Jubiwoll &5Luo wonn|

ol Lale awlsr JSeadl il ¢ palsll sapsal
&;lgio (DC) 9 (EF) o (AB) wlowsiowoll

. CD=x+39 AB=2x-1 g

2x-1)(x+3)

Cgr =l ol ow (1
3Xx+2 olow (

(x-2){16x +27) =16x* ~5x~54 Ol  ga=s (2

B F /c EF =1,875 0l caole 15| CD g ABg Xl o

http:// xyzmath.e-monsite.com


najib
http:// xyzmath.e-monsite.com


